7-2 Similar Polygons

List all pairs of congruent angles, and write a
proportion that relates the corresponding sides
for each pair of similar polygons.

. JHEM ~ POST

SOLUTION:

The order of vertices in a similarity statement
identifies the corresponding angles and sides. Since
we know that <H F M ”PQST, we can take the
corresponding angles of this statement and set them
congruent to each other. Then, since the
corresponding sides of similar polygons are
proportional to each other, we can write a proportion
that relates the corresponding sides to each other.

LIz LP £H = £0,2F = £5,£M = 2T,

PO IS SO 1P
JH MF  OFH  MJ
ANSWER:

£]) = .'_P,.'_FE .'_S,.'_M = .'_T; £ZH = .'_Q,
Po_1S S0 1P
JH MF FH  MJ
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12.

JUSTIFY ARGUMENTS Determine whether
each pair of figures is similar. If so, write the
similarity statement and scale factor. If not,
explain your reasoning.
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B i M 51
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L

SOLUTION:

Compare corresponding angles:

mAK =0=m.F
A =42 2 mSF
mol L =482 ms W

Since, £M # T and £L # AV then the triangles
are not similar.

ANSWER:
no;, £L £ ZW
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13.
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SOLUTION:

Sincethe ALTK = AMTK (by SAS triangle
congruence theorem), then their corresponding
parts are congruent

Step 1: Compare corresponding angles:
ZL= /M, ZITK = /MTK, and /TEL = /TKM

Step 2: Compare corresponding sides:

IL _ LK _ TX andthe

Therefore i —ME = TF

corresponding sides are proportional, with a scale

factor of %

So, ALTK ~AMTK because

ALTE = AMTE  The scale factor is 1.
ANSWER:

Yes; ALTK ~AMTK because

ALTK = AMTK . scale factor: 1.
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SOLUTION:

Step 1: Compare corresponding angles:
ZBZ A Given
D= 2G5 Allright angles are congruent.
ZBCD = /FCG  Vertical angles are congruent.

Therefore, /B = /F, 4D = /G, and /BCD = /FCG-

Step 2: Compare corresponding sides:

FG 16 16 16 4
3

DC _3

G4

@:i:ji_ﬁ_i

CF T 0 20 10 4
3

Therefore BED _ DC _ €A andthe
FG GO T CF

corresponding sides are proportional with a scale
3

factor of 4.

So AR ~ AFGC because

EB=LF, LD =26, £BCD = £FCG
ED _DC _CE 3
FG GC C'F The scale factor is E

ANSWER:

Yes; ABIDC ~ AFGE because
ZB=LF. /D= £G. ZBCD = £FCG |
B DC CH 3

——=——=——1 scale factor: —.
MG GC CF 4
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SOLUTION: SOLUTION:
Step 1: Compare corresponding angles: Use the corresponding side lengths to write a
proportion.
Since all of the angles in the polygons are right 2x+2 3
angles, they are all congruent to each other. x+3 12
Therefore, corresponding angles are congruent.
Solve for x.
Step 2: Compare corresponding sides: 2(2x +2) =3(x +3)
AL B 3 dx+4=3x+9
WM 4 2 z
DK _8_4 e
ML 6 3
ANSWER:
Since _AD £ DK | the figures are not similar. 5
WM " ML
ANSWER: v f? s v
o: AD ) DK o i
WA ML 0
u [ W2 Z
ANALYZE RELATIONSHIPS Each pair of np, R AR
polygons is similar. Find the value of x. '
A G ¥ SOLUTION:
[ " 5, )i Use the corresponding side lengths to write a
il et [ proportion.
. D |/ .
b {f A 3x-1_8x-1
18 © T S e
SOLUTION: Solve for x.
Use the corresponding side lengths to write a 12(3x—1)=4(8x-1)
proportion. 36x-12=32x—4
- d4x=8
15 5
x=2
Solve for x. ANSWER:
S(x+5)=060 2
Sx+25=60
Sx =35
x=7
ANSWER:
7
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21.

V | . a

1w
K4 £ ]

J ) (>R
i = 20
In+ 1 '

c

Z a o

SOLUTION:
Use the corresponding side lengths to write a
proportion.
x+1 _ 3x+l
8 20

Solve for x.
20(x+1)=8(3x+1)
20x+20=24x+8%
dx=12
x=3

ANSWER:
3
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